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1. RO
(1) BEIE
@O HAKRBEERE 15,756,850 15,350,200 406,650
EARESZIHR 1,000 1,000 0
AN ESTINE L 15,755,850 15,349,200 406,650
@ BEEEERE 0 0 0
BEEEZDFAL 0 0 0
@ Hinik 0 0 0
SZHLF B 0 0 0
FEIniEEt 15,756,850 15,350,200 406,650
(2) FEEH
@ =B 16,805,000 16,170,000 635,000
EHELE 20,000 20,000 0
RIFEHE 0 0 0
RBEEMRE 13,440,000 13,405,000 35,000
% B 270,000 270,000 0
REAE 530,000 530,000 0
BEERE 140,000 140,000 0
HEASRERE 0 0 0
HERE 10,000 10,000 0
FHFR AR 10,000 10,000 0
FIR K2 110,000 110,000 0
EEEBES 105,000 105,000 0
TRheny 1,100,000 1,100,000 0
F=hN - e B 800,000 200,000 600,000
wE 270,000 270,000 0
FEEmE 16,805,000 16,170,000 635,000
LB RIERAE A 1,048,150 A 819,800 A 228,350
2. BENMEROE
(1) BEMRNE 0 0 0
EESIRAEE 0 0 0
2 EENER 0 0 0
BENERH 0 0 0
LERR R MEHEE 0 0 0
thEHRES 0 0 0
3 — AR IERk B 1 REE A 1,048,150 A 819,800 A 228,350
— G EREBERE RS 4,684,981 5,016,157 A 331,176
— R IEEBA RS 3,636,831 4,196,357 A 559,526
I {EEERMERBOL
L HAYE E IE R BA B 1 R £ 0 0 0
JETEIEREE E %S 1,002,418,400 1,002,418,400 0
TR ERRIE R %S 1,002,418,400 1,002,418,400 0
I ERBIEARES
IEREAEE R IR S 1,006,055,231 1,006,614,757 A 559,526
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1. BEEROL
(1) BEEIRE
@ EXRBEERE 13,796,353 1,960,497 15,756,850
EREZTARA 1,000 0 1,000
ERMESHELSE 13,795,353 1,960,497 15,755,850
@ BrEEERLE 0 0 0
BEEESRAE 0 0 0
@ Hunk 0 0 0
e 0 0 0
EHEIAEET 13,796,353 1,960,497 15,756,850
2) F=ER
O BEH 15,750,000 1,055,000 16,805,000
EHELE 10,000 10,000 20,000
R FE 0 0 0
e oy =) 13,440,000 0 13,440,000
=8B 8 0 270,000 270,000
WREBE 380,000 150,000 530,000
BIEERE 70,000 70,000 140,000
SHEEA S EME 0 0 0
HEEME 5,000 5,000 10,000
IR AR 5,000 5,000 10,000
R AE 100,000 10,000 110,000
EELZRLYE 105,000 0 105,000
TREmE 1,100,000 0 1,100,000
F=hN -V 1R E 400,000 400,000 800,000
M 135,000 135,000 270,000
FeERiH 15,750,000 1,055,000 16,805,000
4 HR fR e pank 2 A 1,953,647 905,497 A 1,048,150
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(1) BE IR 0 0 0
EE s ISR 0 0 0
(2) BFENER 0 0 0
rENERE 0 0 0
LHAE R M SR A 0 0 0
th=5HRESE 0 0 0
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